A D Er /N FEAfE (B RAERS)

WEDTANZHANBEEDIERICHA TS, 5|EHE. KREDLGHT, 5L PENMVLEN
JEERICHA TS, Chb o, KREDZSHI VDD,

=] =] =] /
B EH | LB/ miE == EEE B@A—— %Eﬁfg
RIPLR 5% 580
fif] LU 258
FINR[FETA- 580
2K 590
2L 2R 680
239
a 280
N 298
398
399
FRINTGHR 299
Ei5E __| & 500
ST RINSHR 298
== 280
RIA+ 480
dtiEE 780
980
RO Ak 980
100g 210
LW B [Ens e k7 zi3 480
680
199
- 298
8L iR =550 450
480
el 699
®E a 735
TRR BirE 1,050
FER 300
sholLzE 198 =
Wi R 199
IR ADAT 2K 480
1K 68
HESPSY) 2K 298
HERMIIEpOY 2K 159
3A 189
3K 198
17K 53
1R 55
1K 63
=L 1K 110
Zpol) xR T . 75
" 3A = 149
3A nNyh 298
1) —45 L KZ S 298
3A 300
BARE 3K Nyl 179
ZRE[EZpSY KZN = 298
BER 3K % 300
=51 3K = 298
- 5K Ny 199




LU= EFR N9 398
5= WKR|IERRAREE Ny 398
BR% IR Ny 368
R4/ W IR | ST 100g 295
118 198
118 230
BB |D7—AMTN 2@ nNyh 299
2{& nNyY 420
nNyY 380
FIWE BfTERTE nNyh 480
rE=INNE 4 % 399
IR ADAT 21@ NyY 580
bk RERIR nNyY 349
BER A& nNyY 499
EB R [Eh<k Nyl 580
4 1 1S EAY % 499
AR R J)IL—YRThk N9 780
g |FRLEA = 349
BAR RE R =E | 1 149
ZRERAEITE NyY 580
RIPE 3A 3 298
1A 105
1K 139
1A 158
BEE 1K - 149
En= 2K = 189
3K En 298
3K £ 299
3K R 279
AHE 3K 3 199
o 1R 100
N o 180
ELWVEIT Wz B IERLL =T nNyY 300
E 99
En 105
HHZ 1IE A " 105
" 126
® 150
R ] 158
g | — = = 298
LR IE=> = 380
=5 HEER ] 150
=418 = 105
o = 158
s |BE=3 &% 200
N = 200
En 250
AT | NERE = 398
3 480
Rap¥ | —A T
hFE BER —
FinE = 298
£ 480
3K S 380
AR [EBRE % 298
3 480




=FE S 298
REARIR % 368
=

EShazs |[Pak = 22

S ] m— = 258

BRAE s 294

itisE = 398

RI7Ak nNyy 250
<yiall—LA (WER[DSH9Y Ny 199
R4k N9 199

BB [E Ny 349
#w=NE [ I ILThRTE N9 299

R AR - 350
= BEE|[7A—51LEVX nNyh 399

FEE Nyl 298

EBE[REEILE— % 380




	野菜
	果物



